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Nofte:

(a)
(b)
(c)

(d)

In questions numbered 1 to 20. a question 1s followed by data in the form of two
statements labelled as I and II. You must decide whether the data given in the
statements are sufficient to answer the questions. Using the data make an
appropriate choice from (1) to (4) as per the following guidelines:

Mark choice (1) if the statement I alone is sufficient to answer the question.
Mark choice (2) if the statement II alone is sufficient to answer the question.
Mark choice (3) if both the statements I and IT are sufficient to answer the
question but neither statement alone is sufficient.

Mark choice (4) 1f both the statements I and II together are not sufficient to
answer the question and additional data 1s required.
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Sub questions

Question Number : 1 Question Id : 3944843330 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Is x a rational number?

2,8 29886300 HoWETHT 2
(1) x =b+c

(I) b and ¢ are urational numbers.

b, cen 63050 Sogew.

Options :
1. % 1
2. %2
3.%3
4. ¢ 4

Question Number : 2 Question Id : 3944843331 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In the adjacent figure what 1s the area of the square ABCD?

19582 580 & 9 G|D0 ABCD I 50652 .
1

G

) S

B

(I) AC=16cm
AC =16 0. &).

(IT) The areas of the circles C; and C2 are in ratio of 4 : 1

C1,C259T FAerse) ANV 4 : 1

Options :
1.v1
2. %2
3.%3
4, % 4

Question Number : 3 Question Id : 3944843332 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



fix) 15 a polynomial with integer coefficients. Is (x + 2) a factor of fix)?

oJPTTOPED MHEasten T (e 2,8 220000 fx).

fiyBox +2 2.8 derosar?
O  fi)=22"+bC + &’ +dx +e

(IT) 8b—4c+2d—e=32

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 4 Question Id : 3944843333 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Find the area of the sector?

VED ST 0eB?

(I) Length of the arc = 1 unit.
T00 &FCicY) =1 CLFAE .

(IT)  Radius of sector 1s six times length of arc.

8 orsrrdo 00 &rdied B esth BEX,

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 5 Question Id : 3944843334 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



A person can puchase three articles for Rs.49, What is the price of the costliest article?

49 EFar0NOE 2,8 0558 S 5eDIOD Tdferch. evedsoes HOTS
3308 &S Does?

(I) The cost price of two articles each 1s Rs.1 less than the cost price of the
costliest article.

e9e550e5 POT 03608y 5 Ev) adifes O o5c0I e Y
2,8%.63 1 5Faron 88069,

(ITy  The cost price of costliest article is 6.25% more than the cost price of the
cheapest article.

0692065 378 @ONT® 658)aY (3G ). eveb 0 HOTIS 03808
OG 6.25% )50},

Options :
1.¥ 1
2.% 2
3.%3
4. % 4

Question Number : 6 Question Id : 3944843335 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Is the polyvzon ABCD a trapezium?
226502022 ABCD D0002) tiedndnieidsr?

(I) It has a pair of parallel sides.
8 2.8 2368 DSr0ed S 2heren §0s).

(I)  Two of its sides are equal in length.
TR DO 202en WArS Forden 56 &) ow.

Options :
1. %1
2. %2
3.%3
4.9 4



Question Number : 7 Question Id : 3944843336 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What 1s the median of the frequency distribution?
T ) f al2T23r0 G308 NGB0 D0es?

F

(I) Its arithmetic mean is 57.
') @050 800 57.

(II)  Its mode 15 55.
%) 2PV F B0 55

Options :
1. % ]
2. %2
3.3
4. % 4

Question Number : 8 Question Id : 3944843337 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the positive mtegral value of x ?

x O308) G JPPOE QW) ) 0Es?

(I} I Tx+3<46
(I} 25<x?<49
Options :
1.1
2. %)
3. %3
4. % 4

Question Number : 9 Question Id : 3944843338 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



What is the LCM of two numbers a and b?

DO QOWEED a. b O Ear.MH. D0 ?

(I) The GCD of a and b is 3.
a.b @ . 2. 2. 3.

(IT) a 15 even and b 1s odd.
a OO Hows b B doye.

Options :
1. # 1
2. %2
3.% 3
4.9¥ 4

Question Number : 10 Question Id : 3944843339 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What 1s the digit in the Ten’s place of the number n ?

n D0 TBNEE HEVO TR0 O @03 H?

M  n>100

(I}  » gives remainder 69 when divided by 100.
7 e 100D 2RO 69 Fard) cod.

Options :
1. %1
2.2
3.%3
4. % 4

Question Number : 11 Question Id : 3944843340 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



If 4 15 a square matrix, what 1s det 4?7

A2E BeGI0 Sress @one, detd o)0es?
(1)  det5A=45

(I)  det 10A =360

Options :
1. % 1
2. %2
3.3
4, % 4

Question Number : 12 Question Id : 3944843341 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How old 1s Rakesh now?

1DWB0 T IR HONTYOES ?

(I) Seven years ago. Rakesh was older than Suresh by cight vears.
DB (8650, 00 ) T IR DT WD,

(IT)  Presently Rakesh 1s thrice as old as Suresh.

120065 S5ODn) OFPs DR E0) TPSRL S507eh BEY 2 ares.

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 13 Question Id : 3944843342 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Find the cost of two benches and three chairs?

DO 2OEW, 7N H00,30 BOT 082

(I) The cost of 5 benches. 10 chairs 1s Rs.17500.
5 2326w, 10 $08 e A BF. 17500,

(II) The cost of 7 benches. 11 chairs 1s Rs.27500.
7 222, 11 50830 DA 8. 27500,

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 14 Question Id : 3944843343 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

o
x+y

Find the value of

x34y?
x+y

a3 ST ea.

(I) x = E
¥

(M) X*+y=12

Options :
1. %1
2. %2
3.3
4, % 4

Question Number : 15 Question Id : 3944843344 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

Find the volume of the cone C
F030aY) C G5} a0 DATEIT0ED 2

(I} Height of C = radius of C
Coded) > C asardo

(I)  Volume of the eylinder. whose radius and height are same and C. 15
300 em’.

C BE), ). TR 56 2.8 A0 a0 S0NBSr0
300700, a3

Options :
1. % 1
2.¥2
3. %3
4. % 4

Question Number : 16 Question Id : 3944843345 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What 1s the number of elements in the set A7

A DB HIOTE  HOYE 0S?

(I) Number of elements in A U B 1s 35.
AUB SR rose Sows 35.

(IT) Numberofelemtsin B—-A s 7.
B-A D Hirose Homs 7.

(Here B 1s also a set )

(28¢5 B 53 2.8 cdades)

Options :
1. %1
2. %2
3.3



4. % 4

Question Number : 17 Question Id : 3944843346 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the value of Cos® 8+ Sec'g 2

Cos? 6+ Sec?@ Dewsd w0eh ?

(1) Sin? B+ Cosl@ =1

(1) Cos 0+ Secf =2

Options :
1. % 1

2.¥2
3. %3
4. % 4

Question Number : 18 Question Id : 3944843347 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What 1s cost price of the article?

&5 3Ny §51,.556 Doed?

(I) It 1s sold for Rs.X at a loss of 20%.
20% R0 & AR 8F, X ©5) @0

(II) If it 15 sold for Rs.(X+50) the profit would have been 10%.

TR G, (X +50) & 158 ead a0 10% erio
S OSDOTE.

Options :
1. % 1



2. %2
3.¢3
4. % 4

Question Number : 19 Question Id : 3944843348 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If a set X has 22 elements and A is a subset of X. then what 1s the number of subsets

of X that are disjoint from A?

22 Jaresee) EOAN0 2.8 Qane X 80 A 2.8 S&ades oo, A

DO EOT &) X B0 (e G0N SO )Oes?

(I) Set A has less than 10 elements.

A A € 1055) 5500 Sarerseen S0 .

(I}  The largest subset of X disjoint from A has 14 elements.

A& DOEOT &) X806 eoehoes 20 OO & 14
ST EITEN 5820,

Options :
1. % 1
2.¥2
3. %3
4. % 4

Question Number : 20 Question Id : 3944843349 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



What 1s the value of y ?
¥ )W) )OS ?
(T) T AR,
() x=(y—1)° andx=8.

x=(y—1) N6 x=8.

Options :

1. % 1

2.¥2

3.%3

4. % 4

Sub-Section Number : 2
Sub-Section Id : 394484338
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3944843350 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Problem Solving

D50R s AT

Sequence and Series

e ESren, Feaven
CAR : 040219 :: LOT :
(1) 131621
(2) 131520
(3) 131620

(4) 121621

Options :



1.¥ 1
2. %2
3.%3
4, % 4

Question Number : 22 Question Id : 3944843351 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Problem Solving

D50R s AT

Sequence and Series

e ESren, Feaven

BMS:ZKQ:: _ :AXY
(1) CZA
(2) DAB
(3) CYD

(4) BAD

Options :
1.¥1
2. %2
3. %3
4. % 4

Question Number : 23 Question Id : 3944843352 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Problem Solving

DI D

sequence and Series

e EAren, FraeD



c. e Lt

(HLEn
(2) e.m
(3) d.m

(4)e.n

Options :
1. % ]
2.¥2
3.% 3
4. % 4

Question Number : 24 Question Id : 3944843353 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Problem Solving

D50R s AT

Sequence and Series

e ESren, Feaven

Foot : Inch :: Year:

2¢O 1 @OMHFO 1 0550 :

(1) Decade
B0

(2) Day
Eez

(3) Week
TG0

(4) Month
i

Options :
1. % ]



2. %2
3. %3
4. 4

Question Number : 25 Question Id : 3944843354 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Problem Solving

D50R s AT

Sequence and Series

e ESren, Feaven

(6,7):21:: (8. 9):

Options :
1. % 1
2.¥2
3.%3
4. % 4

Question Number : 26 Question Id : 3944843355 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Problem Solving

DI D

sequence and Series

e EAren, FraeD



GASKET : JISFER :: PERSON :
(1) RUMNIQ
(2) RSMOIQ
(3) NUQTOP

(4) RUPIIS

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 27 Question Id : 3944843356 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Problem Solving

DI D

sequence and Series

e EAren, FraeD

PRINT : 86 :: NOVEL :

(1) 78

Options :
1. %1
2. %2
3.%3
4.v 4



Question Number : 28 Question Id : 3944843357 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Problem Solving

D50R s AT

Sequence and Series

e ESren, Feaven

__:pon:: DCB: het
(D) 1k
(2) LKJ
(3) KT

(4) LK)

Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 29 Question Id : 3944843358 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Problem Solving

DI D

sequence and Series

e EAren, FraeD



CAM :USE : 5AT:
(1) KTM
(2) JRM
(3) KSL

(4) LTR

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 30 Question Id : 3944843359 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Problem Solving

D50R s AT

Sequence and Series

e ESren, Feaven

A2101U : B2002T : C1703Q : R §
(1) 1917
(2) 1918
(3) 1916

(4) 1919

Options :

1. % ]

2.¥2

3.%3

4. % 4

Sub-Section Number : 3
Sub-Section Id : 394484339



Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 3944843360 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Note : In questions numbered 31 to 35 pick the odd thing ount.
B0RE - 31 05 35 305 e (D1 o8 HoFOE HOoTHSN.

(1} a%=3x*+3x=1=0
(2) x*—3x*+3x+3=0
(3) x*—6x2+12x—8=0

(4) x*+6x*+12x+8=0

Options :
1. %1

2.¥2
3.8 3
4. % 4

Question Number : 32 Question Id : 3944843361 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Note : In questions numbered 31 to 35 pick the odd thing ount.
B0DE - 31 0B 35 385 e (D1 o8 HoFODE HioHsw.

. 35
Ll_fl;
14
(=)

e 11
1 feid
)5

9
i e

Options :
1. %1



2. %2
3.¢3
4. % 4

Question Number : 33 Question Id : 3944843362 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Note : In questions numbered 31 to 35 pick the odd thing ount.
B0RE - 31 05 35 305 e (D1 o8 HoFOE HOoTHSN.

(1) 3223
(2) 3443
(3) 3663

(4) 3883

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 34 Question Id : 3944843363 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Note : In questions numbered 31 to 35 pick the odd thing ount.
Ba0DE - 31 od 35 38% e (S ed D006 Hlothsw.



(1) Flute

SNGL
(2) Wiolin

TSV
(3) Weena

Dea

(4) Mandolin
S0 OS

Options :
LY
2. %2
3. %3
4. % 4

Question Number : 35 Question Id : 3944843364 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Note : In questions numbered 31 to 35 pick the odd thing ount.
5.00% - 31 oM 35 305 e (ST od HoFO HOoTHSY.

(1) Fish
DO

(2) Frog
Sed)

(3) Turtle
ALY

(4) Allegator
2N NE)

Options :
1.v'1



2. %2

3. %3

4. % 4

Sub-Section Number : 4
Sub-Section Id : 394484340
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 3944843365 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Note : Each of the questions from 36 to 45 follows a definite patitern. observe the
same and fill in the blanks with suitable ones.

BDE 36 HA 45 I6% e Hien 28 pDISDHS aHIFD
TSNy on. 88 AOhSTR M0 KOGHD HIFFTTOS e
Sroociod.

9, 28. 126, 344,

(1) 578
(2) 742
(3) 916

(4) 1332

Options :
1. % 1
2. %2
3. %3
4.v 4

Question Number : 37 Question Id : 3944843366 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Note : Each of the questions from 36 to 45 follows a definite pattern. observe the
same and fill in the blanks with suitable ones.
BDDE36 DB 45 365 o (Do 2E 9SS JAhIFDY

3Ny on. & DAhSTR Moo HACLD MirmTes o
Srfodiod.



B = 8 @@
3 12 5 21 56
1) =
@ =
G =
@ =

Options :
1. % 1
2.2
3. %3
4. % 4

Question Number : 38 Question Id : 3944843367 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern. observe the
same and fill in the blanks with suitable ones.

Mo 36 nd 45 S6%0 fe Hdyen ¥ od38Ea Adbdrdy
3Ny on. & DAhSTR Moo HACLD MirmTes o
Srfodiod.

100, 110. 1000. 1001.
(1) 1010
(2) 1100
(3) 1101

(4) 1110



Options :
1.v1
2. %2
3. %3
4. % 4

Question Number : 39 Question Id : 3944843368 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Note : Each of the questions from 36 to 45 follows a definite pattern. observe the
same and fill in the blanks with suitable ones.

Mo 36 nd 45 S6%0 fe Hdyen ¥ od38Ea Adbdrdy
3Ny on. & DAhSTR Moo HACLD MirmTes o
Srfodiod.

101,103, 109,113, 127. 131
(1) 111
(2) 105
(3) 103

(4) 107

Options :
1. % 1
2. %2
3. %3
4. v 4

Question Number : 40 Question Id : 3944843369 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Note : Each of the questions from 36 to 45 follows a definite pattern. cbserve the
same and fill in the blanks with suitable ones.
M 36 o 45 S6% fe (Hden 28 23838 Adbardy

TSNy on. 8 AGLSTR HHQ0D ROGHD HITTTOS TP
arooiod.



225.16.169.36.121.64.81.
(1) 88
(2) 92
(3) 96

(4) 100

Options :
1. %1
2. %2
3.%3
4.v 4

Question Number : 41 Question Id : 3944843370 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern. observe the
same and fill in the blanks with suitable ones.

Mo 36 nd 45 S6%0 fe Hdyen ¥ od38Ea Adbdrdy
3Ny on. & DAhSTR Moo HACLD MirmTes o
Srfodiod.

10.30. 150, . 11550, 150150
(1) 1050
(2) 10100
(3) 10350

(4) 10550

Options :
1.¥ 1
2. %2
3.%3
4. % 4



Question Number : 42 Question Id : 3944843371 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Note : Each of the questions from 36 to 45 follows a definite patiern. observe the
same and fill in the blanks with suitable ones.
fafE 36 cndd 45 S0%0 Mo BNd1en 28 203838 Adhdrdy

Fedurryon. & DObSTR FHQod HOGhD PHITTTOS TP
srooviod.

g ol g A
3

S5SNIy Sl a—=

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 43 Question Id : 3944843372 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite patiern. observe the
same and fill in the blanks with suitable ones.
fafE 36 cndd 45 S0%0 Mo BNd1en 28 203838 Adhdrdy

Fedurryon. & DObSTR FHQod HOGhD PHITTTOS TP
srooviod.



CAUCHY. __.IKIUDY. LPPDOL
(1) FECLSL
(2) FEBSTU
(3) FFBLSL

(4) FECLSL

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 44 Question Id : 3944843373 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite patiern. observe the
same and fill in the blanks with suitable ones.

fafE 36 cndd 45 S0%0 Mo BNd1en 28 203838 Adhdrdy
Fedurryon. & DObSTR FHQod HOGhD PHITTTOS TP
srooviod.

asuoi, . 1aS110. euoia
(1) uoiae.
(2) voiea
(3) uioae

(4) noeia

Options :
1.¥1
2. %2



3.%3
4. % 4

Question Number : 45 Question Id : 3944843374 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Note : Each of the questions from 36 to 45 follows a definite patiern. observe the
same and fill in the blanks with suitable ones.
KD 36 DB 45 I6% Mo (Do of pOISDHS JoHSTED
Fedurryon. & DObSTR FHQod HOGhD PHITTTOS TP
srooviod.

0.6.24.60,  .210
(1) 84
(2) 96
(3) 120

(4) 180

Options :

1. %1

2. %2

3.3

4. % 4

Sub-Section Number : 5

Sub-Section Id : 394484341
Question Shuffling Allowed : Yes

Question Id : 3944843375 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (46 to 48)



The following graph depicts the profits earned by a company through exports in the

past six years. Based on this data, answer the questions 46,47 and 48.

Hed €3ty §05568 3070 DD T or 2.8 0D ef0DD erererd
& |1BoB Brdto SO0, & OT0F0 estrloiT 46.47.48 (D¥) 0%

TR0 Rad 0.

Profits earned by a company
45

= 5
Q?@ 20 —~— 0
o f‘?q* 30 30 s
s .
£3 A0 =
@ 20
EB G 5
£ 9
0
1 2 3 4 5 B
Year
% 5 25 30 30 45 40
D0 50

Sub questions

Question Number : 46 Question Id : 3944843376 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The approximate yearly average of the profits through exports (in crores of rupees) is
DA T 5T AFTOE SIS erio (B &r. o)

(1) 29

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 47 Question Id : 3944843377 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

In which vear (2°¢ year to 6™ year) the increase in the profits was maximum when

compared to that of previous year?
180¢5¢3 D053 1808 SFOW 2 0B IB0 (2 85 D065e5 350 00 6 o9

05651850 3850) erzren HOom OMmow?

(1) 5% year 500 0¢850
(2) 4" year 435 053350
(3) 3" year 35 5056350

a4 d i
(4) 2% year 265 D0 B0

Options :
1. % 1
2. %2
3. %3
4.9 4

Question Number : 48 Question Id : 3944843378 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



When compared to the first 3 years what is the increase percentage in the profits to the

last three years?
30653 3 HoSSIT oS FOINIID DO AT Dol yoreres
erare) ey T 0 D0es?
1
(1) 89=
(2) 90
2
(3) 912

: 1
(4) 92

Options :

1. % 1

2. %2

3.¢¥3

4. % 4

Sub-Section Number : 6
Sub-Section Id : 394484342
Question Shuffling Allowed : Yes

Question Id : 3944843379 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (49 to 53)



The following Pie-chart shows the budget allocation of a company under different heads
P.Q.R. S, Tinone financial vear. Based on the information given. answer the questions
from 49-53.

Bo® -] 2.8 @308 H0se3 )30 2,8 EoR DD DEVEeD P.Q. R.S. T

® 806 TS SEFoN0HOA N0, IR SATTTE0 esmrdorT
[0 €0 49-53 50 AT 0 @I 08,

Budget allocation of a company under different heads

DS 905> Bod Beronods 23S

P | 1009
Q | 85°
R | 70°
S | 60°
T |-45°

e 5 =T

Sub questions

Question Number : 49 Question Id : 3944843380 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The amount allocated to ‘Q” is what percent of total budget?

S0S0 23S S Q & TFonoDIA Joch TS0?
(1H22-=
(2) 23 %
(3) 22 ﬁ

7
(4) 23 o



Options :
1. % 1
2.¥2
3. %3
4. % 4

Question Number : 50 Question Id : 3944843381 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the amount allocated to the head ‘S’ 15 Rs.18 lakhs. mn an year. then the amount
allocated to the head ‘P’ m that year (in rupees of lakhs) 1s

2.8 00553506 § HEY 180 TEronodS JnBo 18 oEoons el

506365350 P B TEFon 0D 0o, (0 © Srarches’)

(1) 20
(2) 24
(3) 30

(4) 32

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 51 Question Id : 3944843382 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The amount allocated to the head ‘R’ 1s Rs.24 ¥ lakhs in a year. then the total budget
in that year (in crores)is
2.8 0565350 R HED 1808 TEPonod® B0 24 4 95O SParoh B

& D055 150T B0 BE (L)

(1) 1.08
(2) 1.12
(3) 1.20

(4) 1.26

Options :
1. % 1
2. %2
3. %3
4.9 4

Question Number : 52 Question Id : 3944843383 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the total budget in an year 1s Rs.2.7 crores, then the difference between the allocations

of heads S and T (in lakhs) is

2.8 DoNSIG0S JnSo aTE GF. 2.7 T @ond ST Se (8o
TEPONODS P00 B0 (@& Srarches)

(1) 12.5
(2) 12.25
(3) 11.5

(4) 1125



Options :
1. % 1
2. %2
3. %3
4.9 4

Question Number : 53 Question Id : 3944843384 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The total amount allocated to heads ‘P’ and *S’. put together is what percent of the total

amount allocated to the remaining heads?

5 DO B0dS SEronoD [NDO &P oifEe He Hu SEronode

P,.sS
[0S0 &Fa02eS Do FThS0?

(1) 75
(2) 78
(3) 80
(4) 90

Options :

1. % 1

2. %2

3.3

4. % 4

Sub-Section Number : 7
Sub-Section Id : 394484343
Question Shuffling Allowed : Yes

Question Id : 3944843385 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (54 to 55)



Consider the following venn diagram representing three sets A. B, C. Based on the

information given, answer the questions 54 and 55

S57¢0 Hdaedew AB,C ) ST IS B0 FoLNBDNS ST 0F0
SPAOTT 54 D003 55 (909 O8) QdFrTrared )]

5

72

A- Students of a school play Football
DO S B ardTe Qorrdhen

B- Students of the same school play Basket ball
20 aPETOS rE oS ei dorzden

C- Students of the same school that play Cricket.
&3 P& (836 B dorsthen

Sub questions

Question Number : 54 Question Id : 3944843386 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The number of students who play Cricket and Football but not Basket ball 15

208 2 sHvoan. 8340 SHDO HErd esi@ dorivey Hows

(1) 7

(2) 9



Options :
1. % 1
2.9 2
3. %3
4. % 4

Question Number : 55 Question Id : 3944843387 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The number of students who play either Football or Basket ball 15
DGerd Bor VO 270 B ;e dowg

(1) 63

(2) 70

(3) 68

(4) 75

Options :

1. % 1

2. %2

3.%3

4.9 4

Sub-Section Number : 8

Sub-Section Id : 394484344
Question Shuffling Allowed : Yes

Question Id : 3944843388 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (56 to 60)



English alphabets (26) are arranged along a circle. Then each vowel is coded to its
next second vowel in clockwise direction while each consonant is coded to its next
consonant in clockwise direction. For decoding the inverse process can be followed.

Using this coding procedure answer the questions 61-65

&0l SUSIFOSD 26) TN a8 S9850 Mo ©NBIO.  (H
@D D95OIS TR HCSO BOhd e9tHI% F& ™. D8 TFens
PR SCNNO TFEVH JS5:HES F6 TR0 . & FHoh Foo A STH
8o aredomrd.

& SA0N DTrA)) G&HAN0D 61-65 |04 8 QSO0 Q3 5085
Sub questions
Question Number : 56 Question Id : 3944843389 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Code word for LARGE 1s
LARGE % §& 0
(1) MISHU
(2) MISHO
(3) MISHA
(4) MISHE

Options :
1. % 1

2.¥2
3. %3
4. % 4

Question Number : 57 Question Id : 3944843390 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Code word for SMALL 1s
SMALL % 86 %0

(1) TNAOO
(2) TMIOO
(3) TNINN

(4) TNIMM

Options :
1. % ]

2. %2
3% 3
4.9 4

Question Number : 58 Question Id : 3944843391 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which word 1s coded as CITO?
o) 0 CITO T 6 TADDEIE ?
(1) BATE
(2) BOSE
(3) BASE

(4) BESA

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 59 Question Id : 3944843392 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Code word for QUARANTINE 1s
QUARANTINE %0 §'G ¢S50
(1) REISIPVUPO
(2) REISIOVUPO
(3) REISIUVOPO

(4) REISIRVUPO

Options :
1.v1
2. %2
3. %3
4. % 4

Question Number : 60 Question Id : 3944843393 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Code word for CORONA VIRUS is
CORONA VIRUS % §& D30

(1) DASAPI WUSET
(2) DASAPI WUSIT
(3) DASAPI WUSIV

(4) DASAPI WUSIW

Options :

1.¥1

2. %2

3. %3

4. % 4

Sub-Section Number : 9
Sub-Section Id : 394484345
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3944843394 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



In a certain code. CALIFORNIA is coded as GWPEJKVIMW . The code word for
ANDHRA 1s
2.8 A0 F&S' CALIFORNIA & GWPEIKVIMW P §6 T002806.
ANDHRA 5o 86 H¢50

(1) EHVIDW

(2) ETDHVW

(3) EJHDVW

(4) AHIVDW

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 62 Question Id : 3944843395 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If 18907 1s coded as BITAH then the code for 25836 1s
18907 &5 BUAH 1™ 56 T 25836 &0 §6

(1) FTIKLM
(2) CFIDG
(3) DCGHI

(4) EHIVDW

Options :
1. % 1
2.2
3.% 3
4. % 4



Question Number : 63 Question Id : 3944843396 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If TRIGONOMETRY is coded as UTLETTVUNDCK. then TRIANGLE will be

coded as
TRIGONOMETRY & UTLKTTVUNDCK T §& ©oD2)3& TRIANGLE Q) §&
DODT DI

(1) UTLSESMN

(2) UTLESSMN

(3) UTLSEMSM

(4) UTLESMSM

Options :
1. % 1
2. %2
3.%3
4.v 4

Question Number : 64 Question Id : 3944843397 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If BLACK i1s coded as 2515262416, then RED 1is oded as
BLACK & 2515262416 1 §6% T . RED Q §6 TOhr ST0
(1) 092223
(2) 082122
(3) 072021

(4) 092122



Options :
1.¥ 1
2. %2
3. %3
4. % 4

Question Number : 65 Question Id : 3944843398 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
It HIGH is coded as 08090708, then ‘DARE’ 1s coded as
HIGH & 080907087 §°6 5 7. DARE D §6 TODT S50
(1) 04011805
(2) 04011705
(3) 04011605

(4) 04011505

Options :

1.¥1

2. %2

3.% 3

4. % 4

Sub-Section Number : 10
Sub-Section Id : 394484346
Question Shuffling Allowed : Yes

Question Number : 66 Question Id : 3944843399 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Date, Time & Arrangement Problems

S0, Hcho, @hode HdHien



In a certain leap year the first day of the vear was Sunday. On what day was the 2™ of

March in that year?

2.5 O Nose 806 [nded T HTE0 ©on GoBR. ©n

D035 IBE0ET S0 BOKIM o) TGO €900 GON?

(1) Thursday (1) Hhdado
(2) Friday ) HEardo
(3) Saturday (3) 80
(4) Sunday (4) &0

Options :

1. %1

2.¥2

3.%3

4. % 4

Question Number : 67 Question Id : 3944843400 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Date, Time & Arrangement Problems

26, Hlcho, eHefe HlSien



The angle between minutes hand and hours hand in wall clock (in radians) at 9.56 am
15

&C0N0 9.56 KoL FE JAOIIG0 DANared SNV, oLre) JNeDe
NS0 BAIHIS)

Options :
1.v'1
2. %2
3.%3
4. % 4

Question Number : 68 Question Id : 3944843401 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Date, Time & Arrangement Problems

6, Dcho, @ode Hoien



A clock gains time uniformly. It was observed to be 2 minutes slow at 12.00 pm on
Monday and was 4 minutes 48 seconds fast at 2.00 pm on the next Monday, When

did the watch show the correct time?

2.8 HAATFE0  QHATER) SrDotGod DEBST DDA, ad
FoNaPO0 NP0 12.00 HOO®OE) 2 Qaalel RelIOT i)t
HeNDOVIDBOB.  SHares FNTE0 Terd D)0 2.00 o5 4
QT 48 TEQ DAOTT SN LN HoHAODD. & ABATE0 o) Fard
RAOQDE ADONO WWPYaD ?

(1) Friday (1) ’Ebtféﬁ“fjc’
(2) Thursday (2) HBT GO
(3) Wednesday (3) 2080
(4) Tuesday (4) HonFI; G0
Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 69 Question Id : 3944843402 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Date, Time & Arrangement Problems

&6, HSocho, eHofe DSien



A 1s Bs sister. C 1s B's mother. D 1s C's father and E is D’s mother, then how 15 A
related to D?

B Q308 FSOA. B &BwEy 3O C.C Sold D, HOG D By SO E

eaX)c); D & A &0 (e DODOG0 Da0?

(1) Grand father (1) 50D g
(2) Grand mother (2) @025
(3) Daughter (3) é\}m@
(4) Grand daughter (4) ddTeD
Options :
1. % 1
2. %2
3.%3
4.9 4

Question Number : 70 Question Id : 3944843403 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Date, Time & Arrangement Problems

6, Dcho, @ode Hoien



Mr.A left home for the bus stop 25 minutes earlier than usual. It takes 15 minutes for
A to reach the bus stop. A reaches bus stop at 8.30 am. What time does A usually leave

house for the bus stop?

A 29630656568 1835 25 QoD SNCEITR Q030 2R ) B
20DEVDOND. DD W DARNTIEAE A 50 15 Q0aren HEDAN0S 2D
YD 0 A S .8 30 5 DHEFTH. rrdao™ A 827 280 ) £
20DENTT DNOANC A ?

(1) & .9.00 am
(2) ©&5.8.50am
(3) ©5.8.40 am

(4) & 835am

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 71 Question Id : 3944843404 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Date, Time & Arrangement Problems

26, Hlcho, eHefe HlSien



Mr A came 34 minutes before the time at which a board meeting is scheduled. Mr B
arrives to the meeting 25 minutes later than Mr.C who arrived 7 minutes before the

scheduled time of that board meeting. If B arrived at 11.03 am. then the time of arrival

of Mr.A 1s

28 FD J57T9D A0S JHOTRES) 34 dAwaren SN0 A
€90ICY ST, DTrad D00 7 Adaren SO 5D C
£357 25 Qaren eS0T B daraaras S, B 5858 6. 11. 03 ©o%
DT BFTVE 53T T A @HTODD Do

(1) ©5.10.11 am
(2) ©5.10.45 am
(3) ©5.10.38 am

(4) ©5.11.03 am

Options :
1.v1
2. %2
3. %3
4. % 4

Question Number : 72 Question Id : 3944843405 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Date, Time & Arrangement Problems

6, Dcho, @ode Hoien



A church bell rings at regular intervals of 50 minutes. It rang at 7.00 am after that there
was a technical problem with the bell and it was rectified at 8.45 am. When will the

bell ring between 10 am and 11 am ?

2,8 96 (foe) 1500 01500 (10983 50 Rader® IS (Brtheod.
£5¢5A00 7.00 03050 (FrA0O, e BTr sed 03 d Hadd: BT A
G0N0 845 B0 D0 Db, &AOONO 10 SHBA 11 Hoedrey g oy
DI SrHES0E?

(1) c5. 10.20 am
(2) €. 10.30 am
(3) €5. 10.50 am

(4) €. 10.40 am

Options :
1LV
2. %2
3.%3
4. % 4

Question Number : 73 Question Id : 3944843406 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Date, Time & Arrangement Problems

6, Dcho, @ode Hoien



For — <l.definea*b = gt ok ...then 4*6=
5:15\} a*b = %+%+%+ QG DSB0 @a)C 46 =
-
HJE
2
=
(2)2
(331
Ok
Options :
1. % ]
2. %2
3. %3
4.9 4

Question Number : 74 Question Id : 3944843407 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Date, Time & Arrangement Problems

8L, DHAcHo, so%e Hlden



If xAy =lx|yv+x |ly|-(x+y)forxy € R, then _?aﬂn.% —

xy €ER ©5 xAy =|xly+x |y|-(x+y) @008, A =

(1)1
@7
(3)3

(43

Options :
1.v1
2. %2
3.%3
4, % 4

Question Number : 75 Question Id : 3944843408 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Date, Time & Arrangement Problems

26, Hdcho, eHofe HlSien



If a,f,y and § denote the arithmetical operations +. —. X and =+ respectively then
[(10y 4) a (4v4)p6] 6 (50) =
a, B,y DB § ST @0odiedd D080y + —. x000 + o

SFOR [(10y4) a (4y4)B6] 6 (50) =

(1) 4

(2} 3

(3) 2

(4)1
Options :
1. % 1
2. %2
3. %3
4.9 4

Mathematical Ability

Section Id : 39448450
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75
Section Marks : 75
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 394484347
Question Shuffling Allowed : Yes

Question Number : 76 Question Id : 3944843409 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability
e08ie3es ardees



{3-{1-(-2)} 1 }1?

(1) 1
(2) X
(3) 1/ix
(4) Vx

Note: For this question, discrepancy 1s found in
question/answer. So,this question is ignored for all

candidates.
Options :

1.1

2.2

3.3

4.4

Question Number : 77 Question Id : 3944843410 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e051eded ara e

(2n+1)m (2271:) {2”)

If (2m+1)ﬂ {22m)

=1.then m =

(2n+1)m [-.Zzn}{zn:] .

e 1 00N, m =
(2= )

% &
(1) 3
2l n
(3) 2nm
4) n
Options :

1. %1



2. %2
3.¢3
4. % 4

Question Number : 78 Question Id : 3944843411 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
04536 araaSeeh

Ifa:b=3:7andb:c=5:4.then2a :3b :4ec=
a:b=3:700050 b:c=5:400,2a :3b :de=
(1)6:21 :16
£2) 152 38 =28
(3)30 :105 :112

(4)30 :70 : 81

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 79 Question Id : 3944843412 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e005edes arased



Four men can do as much work as eight women. and three women can do as much
work as four children. If twenty-four women finish a work in 52 days. in how many

days. will the same work be finished by 8 men. 4 women and 8 children?

SENDHE HEPEN TR HAD DAWE HOA (Ve HOON SN
(R0 TR HAD SeNHE DOED TOHAOD®. BST TN HOE e
&3 HAD 52 FoarF o TR, 98 S DDA HOE SHanen. SentH
LRED SHBAM AW HOB DN AN Ferered o0 Tars?

(1) 48
(2) 38
(3) 50

(4) 40

Options :
1.v1
2. %2
3. %3
4. % 4

Question Number : 80 Question Id : 3944843413 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e051eded ara e



2 1 1
i — 3 — [ ——
Vv10+2v21 v12-—2v35 V8 —2v15

(1) V7
(2) V8
(3) V3
4)0

Options :
1. %1

2. %)
3. %3
4.¥ 4

Question Number : 81 Question Id : 3944843414 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e20¥tiedes arondses

If x= 17 + 1242 then 212 -I-iz =

x

x= 17 +12V2 ©a0®, 12+ =

(1) 289 +24\2
(2) 287
(3) 34+24V2

(4) 1154

Options :
1. %1



2. %2
3. %3
4.¥ 4

Question Number : 82 Question Id : 3944843415 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e20¥tiedes arondses

The number of divisors of 2160 which 1s of the form 3k where k 1s a positive
integer 1s
k 658 SPT° 050 oo ® 3k GroaneT G0 2160 TBwE) BT HOWE
(1) 10
(2) 20
(3) 30

(4) 40

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 83 Question Id : 3944843416 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e05ieded araGees



The remainder when 5!+ 6!+ 7!+ .-+ 100! 1s divided by 3515

514 614+ 7144100, 0 35 © 2rA0DNI I 5T 30

(1) 0
2) 1
(3) 2
(4) 3

Options :
1.¥1
2. %2
3. %3
4. % 4

Question Number : 84 Question Id : 3944843417 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e20¥tiedes arondses
The LCM and GCD of two numbers are 4641 and 21 respectively. If one is greater

than 300. then find the other number.
DO QOoWEe Bar ., (.ar. ar en IO 4641 HO0%W 21. Dotk
SoweereT 2.8 HowE 300 Fy OO oS, Bodss dows
(1) 273
(2) 283
(3) 293
(4) 299
Options :

1.¥ 1
2. %2



3. %3
4. % 4

Question Number : 85 Question Id : 3944843418 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arithmetieal Ability
e00%iedes aradses

If the GCD of two positive integers m, 1 is 5. then the GCD of 201m and 2697n is

BOCY JPTOSeD m. 1 © (827, 5 0nd, 201m O 2697 ©
f.or. 2.

(1) 5
(2) 10
(3) 15

(4) 20

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 86 Question Id : 3944843419 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arithmetieal Ability
e00%iedes aradses



%+ ==
g + 10
1y 5=
(1) T 496
21
s il
(2) T 496
_ 118
(3) 3 o
169
y i
S © 496
Options :
1. %1
2.9 2
3.8 3
4. % 4

Question Number : 87 Question Id : 3944843420 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e04K%e36s arsBeeh

(Eragl) iy g los
5 5 2 2

n =
2) 5
@ <
4 9
Options :
1. %1

2. %2



3. %3
4.9 4

Question Number : 88 Question Id : 3944843421 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
04536 araaSeeh

The ascending order of the following fractions

B0 D) e es8re 1500

B | ek

EJ=§: =i == 48
(1) a.b. ¢, d
(2)b,a.c.d

(3)d.c.b.a

L]

(4)e.d.a. b

Options :
1. %1
2.2
3. %3
4. % 4

Question Number : 89 Question Id : 3944843422 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetieal Ability
00556 arnPses



Ifa<b<c<d<e<a and e=39, then possible value of ¢ 15

a=h=<e¢=d <e

I,

a DO e=39 LONS, ¢ HO T 50IDS

ATBVEN
(1) 29
(2) 30
(3) 49
(4) 59

Options :

1. %1

2.¥2

3.%3

4. % 4

Question Number : 90 Question Id : 3944843423 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e051eded ara e



In a muxture of 450 kg of two food gramns A and B. A 15 15%. How much quantity
of B (in kg) is to be added to this mixture so that A will be 5% in the resulting

quantity?

450 8|1, © BOCD &35 rmrsen A, B © adF006S A, 15% ™ 00, &
MF SR8 3002 B (BLr.eT) Q Do EONE0 SO S sT SIS

SIS A 0RO 5% SHIeID?

(1) 540
(2) 600
(3) 860

(4) 900

Options :
1. % 1
2. %2
3.%3
4.9 4

Question Number : 91 Question Id : 3944843424 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e05ieded araGees



If 25% of 640 1s 11 less than x% of 15, then x =
1565 x% B350 §5) 6406 25% @R 11 550509 o00s, x=
(1) 57
(2) 114
{3) 1140
(4) 570
Options :
1. % 1
2. %2

3.3
4. % 4

Question Number : 92 Question Id : 3944843425 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetieal Ability
e00%iedes aradses

If the cost price of 20 articles 1s equal to the sale price of 16 articles. then the profit
percentage is
20 S50 TR, 16 S50 @ ISTOL  HITSS
erZiFgretoin0ed ?

(1) 25

(2) z.?é

(3) 30

(4) 32

W | =

Options :
1.v'1



2. %2
3. %3
4. % 4

Question Number : 93 Question Id : 3944843426 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability
e20¥tiedes arondses

The marked price of article A 15 Rs.1200 more than its cost price. When a discount
of Rs.300 1s allowed. a profit of 20% 1s earned. To carn a profit of 25%. the price at
which the article A should be sold i1s ( in Rupees).

2,8 5e00Y A T30E). (9588365 Y R Faffen &8 0T 8 1200 D50)05.

87300 5005y TR, 20% S0 esotrdh. @ond 25% erdo

SO0BETDE € S & ©0zIOND &S (Braronee),

(1) 5120
(2) 5400
(3) 5625

(4) 6200

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 94 Question Id : 3944843427 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e00¥iedes aradses



A. B, C started a partnership business where A invests 3 times as much as B and B

invests % of what C invests. The ratio of their profits at the end of the year 1s
A.B.Cen 2rfarisdcsdm & a8 ornrord)) (ardodlodd. B Areder
DE 3B A, C HredSoss %J}Oeﬁ%& SIPOEESNE B RGO

00566350 DSGET 70 erered D )ed

%]

(1)2:3:6

—
[ ]
LN
Fal
| E
=

—
L
o
=)
| ]
L]

Options :
1. % 1
2. %2
3.¥3
4. % 4

Question Number : 95 Question Id : 3944843428 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e00¥iedes aradses



: ; ; : i 8 ;
In a partnership business with A, B, C as partners. the capital of A 15 = of the capatal

of B + C and capital of B 15 g of the capital of C + A. The ratio of the annual share
of their profits is

A B.C e 28 Erosne i sSnen. BHC redddsne’ 2 & dok
SPOHOSNE A SHOAD C+A S0H050E" 285 50D S50 S

B 2EPDA DEB 30 D058 erere) réred D ed

(1)5:8:11
(2) 7:10: 11
(3)11:9:8

(4)12:7:9

Options :
1. %1
2. %2
3.%3
4. v 4

Question Number : 96 Question Id : 3944843429 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e05ieded araGees



A tank has two taps A and B. The taps A and B can empty a full tank in 6 hours and
8 hours respectively. Both are opened at same instant and after 2 hours. B 1s closed.

Total time taken to fill the empty tank (in hours) 1s

2,8 e£08 50 SO SoFPonen 580y, SoPranen A HOcky B e 2.8
DO X050 SEINDT 6 Hodren B & HotrerdS are TohHers.
Do Sovronen L3 SOD, Bo ffodre) ST°ieh B HrobaBod.
0NS, P05 P DADEFDE OB dhoho (Hoeryere)

.}I
(1) =
(2) 3

1
(3) 32

1
(4) 4

Options :
1. %1
2. %2
3.%3
4.v 4

Question Number : 97 Question Id : 3944843430 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e20¥tiedes arondses



A pipe can fill a tank in 16 nunutes and a second one fill 1t in 24 minutes. A third
pipe can empty that full tank in 8 minutes. The first tiwo pipes are kept open for 4
minutes in the beginning and then the third pipe 1s opened. Then the time in which
the tank will be emptied atter all the three pipes started working simultaneously ( in

minutes) ?

2.8 TSN 2.8 ersosa 16 DTS’ QoI HOC) BOEsd 24
DT DONNEI. TS TEISN @8 FPO ¢@205: 8 dWarS grd
DODHOE. 76025065 i3 Bocd FLPo 4 ADared BODS
ST 565, NG FEAN SEPIDEND. onsd Hrdd Feren 23070
DATONGBO (G0N ers08 e DOV DDAHO (AWare eS)?

(1) 20
(2) 24
(3) 28

(4) 32

Options :
1.v'1
2. %2
3. %3
4. % 4

Question Number : 98 Question Id : 3944843431 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e00¥tiedes arondsed



Initially Mandeep is at place X and Sandeep is at place Y and these two places are
separated by a distance of 825 kms. Mandeep started his journey at 35 khph for 3
hours earlier than Sandeep to meet cach other. If the speed of Sandeep 1s 45 kmph

and they met at place Z between X and Y the distance between Y and Z (in kms) 1s

SNEE HIDHD X N0 SO HBOW HoAD ¥ N0 S0 s .
SHOCSD 2 DO FISNG DL BrSam 825 8. HIAD S
HOSPEPR) HOHD 0B 3 Hoeren SN0H oty 35 8 werd Jod
25008 Sosmad  rdodomrd. SodD Do Hodrdy 45 8.
0D, oG X DB0ID Y 5506 0658 Z0 5058 5O 1 Y 605w
Z 0858 &80 (BS erEsS)

(1) 505
(2) 460
(3) 435

(4) 405

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 99 Question Id : 3944843432 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e05ieded araGees



A person walking at a speed of 10 kmph stops and rests for 2 minutes after every

kilometer. How much time will he take to cover 6 kms?

2.8 5558 50250 10 8.Q0. BHSNE ST |Hed ES' ey Sorgeh esh 2

QTN F°08S e3cNEV0T) 6 §.50. ©65 D0 TSN Sess5HeICE?

(1) 55 minutes (1) 55 dadaren
(2) 50 minutes 36 seconds (2) 50 DT 36 ED
(3) 46 minutes (3) 46 DoETED

(4) 35 minutes 36 seconds (4) 35 DT 36 ED

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 100 Question Id : 3944843433 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e051eded ara e



35 persons can plant 1500 trees in 7 hours. In how many hours 45 persons can plant

2500 trees?

35 00O HDED 7 HoLdexeS 1500 TEW TPEAON. oD 45 HOO
S0 2500 TED D) Hotrerey mrédierd?

(1) 15
(2) 12

(3) 8

(4) 10

Options :
1.v1
2. %2
3.%3
4, % 4

Question Number : 101 Question Id : 3944843434 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability
e051eded ara e



Two persons A and B undertook to do a piece of work for Rs.6534. A alone can do
it in 12 days and B alone can do it in 18 days. If they finished that with the help of C

in 6 days. then the share of C in that work 1s (in rupees)

298 2555000 A DOC5D B en NS 2.5 23 TOWEIE S 6534 %0
DHETFS. A LT © HAD 12 Tareds TavKO. SO0 BB o
HAD 18 Faredd TahAe®. o & HAD € HTFADHINS 6 Tarerey
PO TR es HAS € By ey (Erarohed)

(1) 1484
(2) 1268
(3) 1089

(4) 936

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 102 Question Id : 3944843435 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e00¥iedes aradses



The area of a rhombus 1f 1ts perimeter 15 40 cm and one of its diagonals 15 16 em (in

sg.em) 15

40 0. 0. © THEY Feoredh HOHAW 2.8 0S50 16 oD, T 8 d

2583350 )23:500 TB0E) BFTOL0 (L3.R0. 0.0

(1) 84
(2) 90
(3) 92

(4} 96
Options :
1. %]
2. %2
3.% 3
4.9 4

Question Number : 103 Question Id : 3944843436 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability
e00¥iedes aradses



Around a circular field of radius 5 meters. there 15 a path of 2 meters wide. Then the

area of the path (in sq. m) is

550 Q0 B> SyTrsed B1650 T Fendes 220 G Ko ey Eocd. e
278 BTL0 (5.0, )

(1) 127
(2) 15w
(3) 187
(4) 247

Options :
1. %1
2. %2
3.%3
4.v 4

Question Number : 104 Question Id : 3944843437 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e05ieded araGees



Two metallic right circular cones with same base with the radius 2.1 em. and height
4.1 em and 4.3 em, have been melted and recast into a sphere. The surface area (in

sq.cm) of that sphere 1s

2,3 Brarierdo 2.1 0.0 den 4. 1 V0.4D.. 4.3 Do, He ok
Ty $0a0IO 600D RBA 2.8 FYor HODG. ©@H o e
&DH0SO T30 (L5 o o o)

(1) 49.82

(2) 51.64
(3) 55.44

(4) 56.84

Options :
1. % 1
2. %2
3.¥3
4. % 4

Question Number : 105 Question Id : 3944843438 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e00¥iedes aradses



The ratio of the curved surface area and the total surface area of a right circular
cylinder is 1 : 2. Ifits total surface area is 616 sq.cmv. then the volume (in em?) of
that eylinder 1s
28 HaTTE N0 CIEYE BB JFTOE0 SO N0
ST 1:2 ANIRET Saryon. @ N0 NosT e BT L0
616 0. 2 @ond T HSIOIPEI (DO. 0.3 o)

(1) 1240

(2) 1078

(3) 1028

(4) 976

Options :
1. %1
2.¥2
3.%3
4, % 4

Question Number : 106 Question Id : 3944843439 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e051eded ara e



If tour circular plates of rads 5 cm are placed such that each plate touches two other.

; : 22
Then the area of the hallow space between them. in em”. is (take 7 = —

(6 Do HTen AT BOM HFTOD DYF0T B0 5 VO. oD.
TG OTE (1 PN 5 HTPTS DT 00030, €958 s3¢3 05 grDrT

€50 1DBHO ST50 (5. 0. N. ©F) (1 =L r &wFod)

(1) 21.43
(2) 78.57
(3) 39.28

(4) 60.72

Options :
1.v'1
2. %2
3.%3
4. % 4

Question Number : 107 Question Id : 3944843440 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e20¥tiedes arondses



A window is in the shape of a rectangle and mounted by a semu cirele. If the length

of the rectangle is 150 cm and the breadth of the rectangle on which the semi eircular

: ; ; : 22
part stands 15 70 em. Then the area of the window. in sq.em. 15 (take m= ?}

25 838 &Y SRSN0D ¥ @85y S00DSEN010. &Y
DEGO0 &Pty 15000, SHOO Fken). BADRS @Sy
SOOI, 70 V0. . oS 8838 FT©£0 (5. 0. )

(m== T B30Fod)

(1) 10.500
(2) 14,350
(3) 12.425
(4) 18.200

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 108 Question Id : 3944843441 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e00¥iedes aradses



A cylindrical vessel of radius 10 em contains water up to a depth of 25 em. A
spherical iron ball 1s dropped into the vessel and the level of water 1s raised by 45 cm.
The radius of the iron ball (in ems) 1s

10 0. 3 2550 a0 (ed 2,8 AATersedsy oS 25 0. o Sehy SEE
DT 00, 2.8 T Ferd) €3 or |53 8 2B DS De3 080 45 0.
0. ©% DOROEG. @Y 57 FF0o irgo (R0. b o)

(1) 12
(2) 15
(3) 16

(4) 18

Options :
1. %1
2.2
3.%3
4. % 4

Question Number : 109 Question Id : 3944843442 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e00¥iedes aradses

(102); + (103)a =
(1) (11100
(2) (11110);
(3) (10110)

(4) (11001);

Options :
1. %1



2.2
3.%3
4. % 4

Question Number : 110 Question Id : 3944843443 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
04536 araaSeeh

Let m€ z besuchthatm = 29 (mod72). f m =r(mod 12)and0 <71 < 12

r!
then — =
12

m = 29 (mod 72) @3dHE0 m .8 && T 0o

m =r(mod12). 000 0=r<12 , @D&J@% =

(1) 5
o

A

@) 2

(3) 10

OF
Options :
1. % 1
2. %2
3.3
4. % 4
Sub-Section Number : 2
Sub-Section Id : 394484348
Question Shuffling Allowed : Yes

Question Number : 111 Question Id : 3944843444 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, 2ol i zes



Which one of the tollowing mmplications 1s false?

BoB @0z DO edes0?

(1)if3+2 =5then1X0 =0

342 =500 1X0=20

(2)if3X6 =20then2+7=9
3X 6 =200005 24+7=9

(B)if EXT =30 1hen2 =1=72
EX7 = 30,0008 2 =1=2

(4)if6X7= 42then6e +2=4
6X7 = 420008 6 ~2 =4

Options :
1. % 1
2.% 2
3.%3
4.v 4

Question Number : 112 Question Id : 3944843445 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, 2ol i zes



The inverse of the statement (p A g) — (g = 1)
DSRS0 (pAQ) — (g 1) TBOEL D50
(1) pA(g—=r1)
(2) rA(p—q)
(3) gA(r—p)
@ ri(q—p)

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 113 Question Id : 3944843446 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DA, 2rsnedad e

Let N denote the set of natural numbers. Define

N €00 523 0SS adedn) e od

A

[x|x=4n.neEN}land B={x|x=6n.n€EN }thenA[1B=

A

(x|x=4n.n €N} DO B={x|x=6nneEN} @O0NBANB=
(1) {x|x=24n, n €N}

2} {x|x=12mneN}

(3) {x|x=2n: neEN}

(4) The empty set
£SO

Options :
1. % 1
2.¥2
3. %3



4. % 4

Question Number : 114 Question Id : 3944843447 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
D8od, 2 uedalh ardsed

If A={p, g, r, s} thenarelation on A. which is not transitive among the following?

A=1{p qr s ©oNB & 1800 ¢35 DO oS0 DO T¢N?

(1) 81 ={(p.q).(q.5).(p.s)}
(2) 62 = {(p.p).(q.9). (r,7)}
(3) 83 = {(p.q).(q.p), (p,p)}

(4) 04 = {(p.q).(r.5)}

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 115 Question Id : 3944843448 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, esnedod ardudsed



If a set A has 6 elements. then the number of reflexive relations on A that are not
symmetric 15

AN AS 6 resen ¥36). AD) TRS0 R HTGN0 Sooe

OO

{31 234} _211
(4) 21
Options :
1. % 1
2.¥2

3. %3
4. % 4

Question Number : 116 Question Id : 3944843449 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Algebraic and Geometrical Ability

DA, 2 0ach e
The equation of a line passing through the points (2. 5) and (4, 7) 1s

(2,5) (4,7) Do HOT FAD DSFTY HEGEISN

(1)2x—-3y-7=0
(2) 3x+2y+7=0
3)x -y+3=0
4 x+y+3=0

Options :
1. %1



2. %2
3.¢3
4. % 4

Question Number : 117 Question Id : 3944843450 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
D8od, 2 uedalh ardsed

An equation of a line passing through (4. 3) and making mtercepts on coordinate axes

whose sum 1s equal to -1 1s

4, 3) Doy How® fdr AEPHE @FO TR @06ad PO

[0S0 -1 0TI HEFTYD daEBeassn

(I)x —y—1=0

() x+3y—13=0

@) x—-2y+2=0

Options :
1. %1
2. %2
3.%3
4.v 4

Question Number : 118 Question Id : 3944843451 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
D8od, 2 uedalh ardsed



secH +tan € =

(1) cos@ + sind

1

secl—tand

(2)

1
secl+tanf

(3)

(4) cos6 — sinB

Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 119 Question Id : 3944843452 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
D8od, 2 uedalh ardsed

sin129 sin24° sin48° sing4? =
1
L) =

2) =

15

.3
(3) e
(4) i

Options :
1.v 1
2. %2
3.%3
4. % 4

Question Number : 120 Question Id : 3944843453 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Algebraic and Geometrical Ability
DB, esnedod ardudsed

If A+C=B.then tanA. tanB.tanC=

A+C=B @Q}J@. tann A.tan B. tan C =

(1)tan A —tan B —tan C
(2)tanB—tanC —tan A
(3) tan C —tan A —tan B

(4)tan A +tan B +tan C

Options :
1. % 1
2.¥2
3. %3
4. % 4

Question Number : 121 Question Id : 3944843454 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, arsiueoh ardndzeb



A straight high way leads to the foot of a tower. Anil standing at the top of the tower
observes a car at an angle of depression 30°. Six seconds later. the angle of depression
of the car is found to be 60°. If the car is approaching the foot of tower with a uniform
speed. the time taken by the car to reach the foot of that tower from this, the later
point (in seconds) is

2.8 2. 2.8 Q020 ardo By DA0A. Q00T e ) @ldd
2,8 5200 30° D) F00d HoDAOTTER. et VED Ao & 5D
60° Q50150065 L0ffar)d. o 5% 508 JHod Qoo IH™
SeN0TY. & ST DONGN0B QOBO TR DB DY
DHONO (RIEIT)

[ ]

(1)
@) 3
(3) 3%

4) 4

Options :
1. %1
2.2
3.%3
4. % 4

Question Number : 122 Question Id : 3944843455 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DA, 2 0ach e



If a+b+ec=15 anda?+b%24+¢?2 =77 thenab+hbc+ca =

a+b+c=15 DO a2 +b2+¢2 =77 @00, ab+ bc+ca =

(4) 74
Options :
1. % 1
2. %2
3.% 3
4.¥ 4

Question Number : 123 Question Id : 3944843456 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, esnedod ardudsed

If x*+6x®+ ax®+ 12x + b is a perfect square. then 3a —2b =

x*+6x% + ax?+12x + b HD ) HPJS0 oNS, 3a—2b =

(1) 47
(2) 19
(3) 31
(4) 28

Options :
1. %]

2. %2
3.3



4. % 4

Question Number : 124 Question Id : 3944843457 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
D8od, 2 uedalh ardsed

If the remainder when a certain integer x is divided by 5 1s 2. then each one of the

tollowing could also be an mteger, except

2,5 D065 ST°050 x &0 5 & 2PAODG IEH FASW 2 5 & ([Bod eSS

&

12083 2,563 P T 050 e, 2,563 550 B0

Options :
1. %1
2.2
3.%3
4. % 4

Question Number : 125 Question Id : 3944843458 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, 2ol i zes



The remamderif 73x74x75x76 1s divided by 14 1s
73xT4x75x76 &0 14 & 2rA™ ST A

(1) 13

(2) 12

(3) 10

(4) 9
Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 126 Question Id : 3944843459 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, esnedod ardudsed

¢ e W . i_% =2 then (x,v) =

xt+y  x—y Xty x—y

By By B L2 el yye

(1) (-5, -3)
2) (-3.-5)
(3) (3. 9)

(4) (5. 3)

Options :
1. % 1
2. %2
3.%3
4.9 4

Question Number : 127 Question Id : 3944843460 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, esnedod ardudsed

i i ” i 2 sz ;
If the difference of s th of a positive integer and = of the same positive integer 1s 6.

then the number of distinct primes that divide that positive integer 15

W

2.8 58 rTrodo még,% 2P (a3 0BG % 23192500 T35 6 90N,

e,

& JPPosR) rNoT D) DTS SOPFE SO

o

t3) 3

(4) 4

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 128 Question Id : 3944843461 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, 2ol i zes



The sum of the infinite G.P, 1s

0 N 3G BB

20 80 320

o7 "o 343’

%

Options :
1. % 1
2.¢¥2
3.%3
4, % 4

Question Number : 129 Question Id : 3944843462 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
D8od, 2 uedalh ardsed



The sum to infinite terms of a G.P. 15 15 and the sum of their squares 15 150, If r1s
the common ratio of the G.P. . then 100+ =

2.8 (09 (3G TBE) @d0¢8 HITe TINBLD 15 HOOW &8 DT ST
050 150, r @RO & DEG rErdes DA eows, 100 2 =

(1) 4

(4) 16

Options :
1.v'1
2. %2
3. %3
4. % 4

Question Number : 130 Question Id : 3944843463 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Algebraic and Geometrical Ability
DA, 2 0ach e

The numerically greatest term in the expansion of (2x — 3y)12,

5 .
whenx=1.y= 31

x=1, =2 200N (21 — 3y)2DVGS” GogrsHSOM HBR HEh

(1) 8
(2) 9
(3) 10

@) 11

Options :



1. %1
2. %2
3.¥3
4, % 4

Question Number : 131 Question Id : 3944843464 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, 2ol i zes

-
Fi

: . : . 1
The term independent of x in the expansion of 1s (3,1’3 =5 4)
X

7
(3x3 — ) DRSS’ O £B50|5 DO

4

(1) No term is independent of x
o) 30 x VOB B 550150 D

(2) 5% term
563 a3C0

(3) 4% term
405 DGO

d
(4) 3% term

30 2260
Options :
1. %1
2. %2
3.3
4, % 4

Question Number : 132 Question Id : 3944843465 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, arsiueoh ardndzeb



A square matrix A 1s called an orthogonal matrix if A satisfies

2.8 e A8 A, @)oo S TIERE AoHNOo

(1) AT =4
(2) AT = -4
(FyAf= 4
(4) AT = A2

Options :
1. % 1
2.% 2
3.3
4. % 4

Question Number : 133 Question Id : 3944843466 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DA, 2 00H Tz

A 15 a 3 x 3 matrix and B 1s 1ts adjoint matrix. If the determinant of B is 64. then the

determuinant of A 1s

AE 3 x3 s D00 B 0% @006 Sriess. B G PG5S0
64 00D A Y AT HES0

(1) 4
(2)=4
(3) 8

(4) =8



Options :
1. % 1
2. %2
3. %3
4.9 4

Question Number : 134 Question Id : 3944843467 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, arsiueoh ardndzeb

lim(Vx2+x+1— vaz+1)=

(1) o

(2) -1

—
L
e

b |

(4) 1

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 135 Question Id : 3944843468 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
D8od, 2 uedalh ardsed



If 3x% + 2xy + y? =6. then L at (-1, 2) is

307 + 20y +y2 =6, @ONS . (-1.2) 5O 2=

(1) 0
2y 1
@3
(3) 1
.
(4
Options :
1. % 1
2. %2

3.¢3
4. % 4

Question Number : 136 Question Id : 3944843469 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DA, 272000 e

A right angled triangle is to be constructed such that the sum of lengths of
perpendicular sides can’t be greater than 24cm and the area 1s to be maxmmum. Then
the length of hypotenuse (in em) 1s

2,8 ©0DEH (B0 OO0 VIO PN IGO0 24 0. . . EN)

REHEOTE, FTE0 (10RO GORLY AD0TE)) GOd. @) T°Q)
580 8709 (0. . ©)

(1) 36
(2) 18
(3) 18v2

(4) 124/2



Options :
1. % 1
2. %2
3. %3
4.v 4

Question Number : 137 Question Id : 3944843470 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, arsiueoh ardndzeb

The diagonals of a trapezium PQRS interect at the pomnt A, If the ratio PA : PR 15

3 : 7. then the ratio of lengths of its parallel sides 15

Doy Deddd)@o PQRS G3E) 2ETen Doty A S50

[=]

POBOTNE0LNTY0N. PA: PR DN 3 : 7 @00 D068 2hared

EFCEaIE) od )

(@s

(1)3:7
2)4:7
(3)3:4

4)2:7

Options :
1. % ]
2. %2
3.¢¥3
4. % 4

Question Number : 138 Question Id : 3944843471 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
D8od, 2 uedalh ardsed



Two circles have radit 13em and 29cm. and the distance between their centres is

15 cm. then the number of common tangents that can be drawn to the two circles 1s

BOLD ST TrTeD 13 0. 2. HOAW 29 0. 8. . & Bodh Sy
SO DA APGAN 15 0. . and, & Btk SHyZre s Aabio

&a028 D)6, B HdoRs

(10
(2) 1
(3) 2

(4) 4

Options :
1.¥1
2. %2
3. %3
4. % 4

Question Number : 139 Question Id : 3944843472 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DA, 2 00H Tz



If the points A(3. 2): B(-3. 2) and C(0. h) form the verticies of an equilateral triangle.

then one valuec of h 1s
A(3.2): B(-3.2) 00 €(0.h) 20090 2,8 del2raiv (e82ha3ain o)
FT°eD 90N, h TBE) 2.8 Densd

(1) 3 —2V3

(2)2-3v3

(3) 3+3

(4) 2v/3

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 140 Question Id : 3944843473 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
D8od, 2 uedalh ardsed



The distance of point (a, b) to the ine ax + By +y = 01s

(a, b) 00y OB ax +By+y =0 BDLO SFS50

;i a+b
(1} V’W
- a+f
Q) [
(3} aa+bf+y
Ja*2p?
ac+bB+y
S e
Options :
1. %1
2. %2
3.3
4. % 4
Sub-Section Number : 3
Sub-Section Id : 394484349
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 3944843474 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statistical Ability
rroms i o i ses



The mean of the following frequency distribution is

&2 (508 iy seraara)s Afew

Class 0-4 | 4-8 | 8-12 | 12-16 | 16-20
e 3iied

Frequency 4 6 7 2 1
285900 850

(1) 6
(2) 8
(3) 10

(4) 12

Options :
1. % 1
2.¥2
3. %3
4. % 4

Question Number : 142 Question Id : 3944843475 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statistical Ability

O ST P 565



Which one of the following 1s NOT true?
& 800 7365 DO edeh5o507?

(1) Mode 1s not affected by change of origin and scale.
e 2I0ENY. RIReN ST TR eFTUSE0 (D270 SR,

(2) Mean is affected by change of origin and scale.

oI ZI0CNY, TIHEN ST T ONEN (D20 TeHod.

(3) Median is affected by change of origin and scale.

SN 2IOCNY, HEN STBIN T oDEISIB0 (22T B0 L0,

(4) Standard deviation 1s not affected by change of origin and scale.

T2)0C06Y), RFEN ATE IO (ZDNION0 |H2B0 5.

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 143 Question Id : 3944843476 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Sratistical Ability
rroms i o i ses



If the mean and Mode of a data are 97 and 100 respectively. then the Median is
2,8 GATP0F 0 O3B AN SDBO5D 2TV F S 0T 97 S8 100

0N &3 IETPOF 00 CRVEY, D §ifesI0

(1) 97
(2) 98
(3) 99
(4) 101
Options :
1. % 1
2.2

3. %3
4. % 4

Question Number : 144 Question Id : 3944843477 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statistical Ability
o o e ses

The variance of 147, 149. 151. 153, ... . 183 15
147, 149, 151,153, ... , 183 O35}, g}r\i}g@
(1) 120
(2) 90
(3) 60
(4) 30
Options :

LY
2. %2



3. %3
4. % 4

Question Number : 145 Question Id : 3944843478 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statistical Ability
rroms i o i ses

The standard deviation of three consecutive integers is

STPC 23D oJPTPOSPe) Q308 15D DT

(1) V3
5 [
@ 3
o [
4) V2

Options :

1. % ]

2. %2

3.3

4. % 4

Question Number : 146 Question Id : 3944843479 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statistical Ability
rroms i o i ses



The rank correlation for the following data is

% 1B0& o708 §¢3 Sardho08 (heako

(1) -1
(2) 0.96
(3) 0.93
@)1

Options :
1.¥ 1
2. %2
3.%3
4. % 4

Question Number : 147 Question Id : 3944843480 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statistical Ability
o o e ses



If A and B are events with P(A) = 0.5, P (B) = 0.4 and P(AMB) = 0.3, then the

probabality that neither A nor B occurs is

P(A)=0.5. P(B)=0.4. P(ANB)=0.3 2G50 00N A. B &0 A, Bew
DO BGMEPHEr0E 00275 5ed

(1) 0.4
(2) 0.6
(3) 0.5
(4) 0.3

Options :
1.v1
2. %2
3.%3
4. % 4

Question Number : 148 Question Id : 3944843481 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Sratistical Ability
rroms i o i ses



A problem 1in statistics is given to three students A.B and C whose chances of solving
=75 £ & 1 ; o
it independently are Sa 5 and = respectively. The probability that exactly one of

them is able to solve that problem is

fromss PVSNS 28 BELD SnME dorzthen A, B SHOA® C
D SSOSOT FQOT ®STFTEN SOOI 2, ZHOAW . wowd, Slel0)

2,820 DD IB0M &8 BE)LD rOHoLTIE doerdsed

(1) =
2) =
(3) 55

OF

Options :
1.v 1
2. %2
3.% 3
4. % 4

Question Number : 149 Question Id : 3944843482 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Sratistical Ability
rroms i o i ses



In a simultaneous throw of two dice. the probability of getting a total of 10 or 11 1s

B0 arQ%en 2.3 rd 000N PDES) SNFPEIT) [NBSW 10

BT 11 90D § 0TI 5es

o = 7=
faa [ ) —
Pt P o

G = o
ml"‘ Ml*q m|r_n e | =

~—
iy
Kl

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 150 Question Id : 3944843483 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Sratistical Ability
rroms i o i ses



If the letters of the word MINISTER are permuted at random. then the probability

that all three vowels come together is

MINISTER 9% D065 08 Trerd airdyd %o JothiHod) ed)

S0PCR) 2oty e EOR TriErdS @G 0T seh

3
8 ey
3
TR
(2)
3
()
3
(4) =
Options :
1. %1
2.9 2
3.% 3
4. % 4
Communication Ability
Section Id : 39448451
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 38
Number of Questions to be attempted : 38
Section Marks : 50
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 394484350
Question Shuffling Allowed : Yes

Question Number : 151 Question Id : 3944843484 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition



Importune

(1) Urge
(2) Poor
(3) Indecisive
(4) Important
Options :
1.v¥ 1
2. %2
3. %3
4. % 4

Question Number : 152 Question Id : 3944843485 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Mercurial

(1) Forgetful
(2) Changeable
{3) Chemical
(4) Weather

Options :
1. % 1
2.¥2
3.% 3
4. % 4

Question Number : 153 Question Id : 3944843486 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Egress

(1) Short cut

(2) Entrance

(3) Backwards

(4) Exit
Options :



1. %1
2. %2
3. %3
4.¥ 4

Question Number : 154 Question Id : 3944843487 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Shambles

(1) Bubble
{2) Confusion
(3) Trouble
(4) Cuddle

Options :

1. %1

2.9 2

3.%3

4. % 4

Question Number : 155 Question Id : 3944843488 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Belligerent

(1) Aggressive
(2) Mournful
(3) Longing
(4) Cheerful

Options :
1. 1
2. %2
3. %3
4. % 4

Question Number : 156 Question Id : 3944843489 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Circumvent

(1) Encompass
(2) Invent

(3) Prevent
(4) Convert

Options :

1. %1

2. %2

3.3

4. % 4

Sub-Section Number : 2

Sub-Section Id : 394484351
Question Shuffling Allowed : Yes

Question Number : 157 Question Id : 3944843490 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

The ongoing festivities the peace of the neighbourhood

(1) Distracted
(2) Deferred

(3) Disturbed
(4) Distressed

Options :
1. % ]
2. %2
3.3
4. % 4

Question Number : 158 Question Id : 3944843491 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Swarna has a for science. while her brother is more interested in the arts.

(1) Tenet

(2) Gemality
(3) Resonance
(4) Penchant

Options :
1. %1
2. %2
3. %3
4. v 4

Question Number : 159 Question Id : 3944843492 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

He knows many languages. He is a

(1) Polytheist
{2) Polygamist
(3) Polyphonist
(4) Polyglot

Options :
1. % ]
2. %2
3.%3
4.v 4

Question Number : 160 Question Id : 3944843493 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition



Netizens decried the with which the government doctor treated the patients.

(1) Compassion
(2) Complaisance
(3) Hunger
(4) Callousness
Options :
1. %1
2. %2
3.% 3
4.9 4
Sub-Section Number : 3
Sub-Section Id : 394484352
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 3944843494 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

A small piece of semiconductor used to carry integrated circuits is known as .

(1) Micro computer
(2) Microchip
(3) Microdot
(4) Microfilm
Options :
1. %1
2.¥2
3.%3
4, % 4

Question Number : 162 Question Id : 3944843495 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition



To obtain or retrieve information from a storage device is known as

(1) Access
(2) Adapter
(3) Add-on
(4) Address

Options :
1.¥ 1
2. %2
3. %3
4. % 4

Question Number : 163 Question Id : 3944843496 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Inventor of daisy wheel printer is

(1) Andrew Marvel
(2) Joseph Edison
(3) William Caxton
(4) David S Lee

Options :
1. %1
2. %2
3.%3
4. ¥ 4

Question Number : 164 Question Id : 3944843497 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition



A socket on a computer into which an external device can be plugged in is known as

(1) Point
(2) Port
(3) Pointer
(4) Post

Options :
1. %1
2.2
3.%3
4. % 4

Question Number : 165 Question Id : 3944843498 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

ASCII is expanded as

(1) Australian Standard Computing International Interchange
(2) American Software Computer Interlining Interface
(3) American Standard Code for Information Interchange
(4) Automatic Standard Code for Information Initiative
Options :
1. % 1
2. %2
3.3
4, % 4

Question Number : 166 Question Id : 3944843499 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Analysing and solving serious problem for a company or organisation is called

(1) Arbitrating

(2) Trouble shooting
(3) Trouble making
(4) Mediating



Options :
1. % 1
2.¥2
3. %3
4. % 4

Question Number : 167 Question Id : 3944843500 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Encryption is being used primarily with

(1) Transaction entry
(2) Computer processing
(3) Data conununication
(4) File retention.
Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 168 Question Id : 3944843501 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

A Model in which one physical property is used to represent another physical
property is knownas
(1) Analog Model
(2) Deterministic Model
(3) Iconic Model
(4) Decision Theory Model
Options :
1.v1
2. %2
3. %3
4. % 4

Question Number : 169 Question Id : 3944843502 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

is not a peripheral of a computer.

(1) Keyboard
(2) CPU

(3) Printer
(4) Scanner

Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 170 Question Id : 3944843503 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

is a trade test.

(1) Interview

(2) Interest test

(3) Aptitude test

(4) Achievement test

Options :

1. %1

2. %2

3.%3

4.9 4

Sub-Section Number : 4

Sub-Section 1d : 394484353
Question Shuffling Allowed : Yes

Question Number : 171 Question Id : 3944843504 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

A After finishing your Marine Engineering degree course. what do you think yvou’ll
do?

B: It is difficult for me to answer for I'm quite at sea

In this conversation B implies that he is

(1) Unwell
(2) Displeased
(3) Perplexed
(4) In danger
Options :
1. % ]
2. %2
3.¢3
4. % 4

Question Number : 172 Question Id : 3944843505 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

PT Usha bore away the gold medals in all track events.
The underlined phrasal verb means:

(1) Sustained
(2) Won
(3) Missed
(4) Narrowly missed
Options :
1. % 1
2.¥2
3. %3
4. % 4

Question Number : 173 Question Id : 3944843506 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Our new office is equipped with all the latest gadgets. What is the meaning of ‘equip
with’ ?

(1) provide
(2) getrid of
(3) spoil

(4) tamper

Options :
L1
2.% 2
3.%3
4. % 4

Question Number : 174 Question Id : 3944843507 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

A: The people in the organisation were bent upon exhibiting their superiority.
B: Multiplicity of leadership gives way to decline.

A: True. too many cooks spoil the broth.

‘A’ means that

(1) There should not be more than one cook in the kitchen
(2) Many cooks made better gruel

(3) No organisation can afford too many bosses

(4) An organisation thrives on confrary opinions

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 175 Question Id : 3944843508 Question Type : MCQ Option Shuffling : No Display



Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

With Ramana’s new venture failing completely. he 1s down in the dumps.

The underlined expression means. Ramana

(1) Fell from grace

(2) Packed up

(3) Is bed-ridden

(4) Appeared miserable

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 176 Question Id : 3944843509 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

A rough and clumsy person is considered

(1) A horse in a French shop

(2) A dog in the mall

(3) An elephant in a German store
(4) A bull in a China shop

Options :
1. % 1
2. %2
3. %3
4.9 4

Question Number : 177 Question Id : 3944843510 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0




Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

The authorities took him to fask for his negligence.

The underlined expression means

(1) Reprimanded him
(2) Forced him to resign
(3) Gave him additional work
(4) Suspended his assignment
Options :
1.¥1
2. %2
3.%3
4. % 4
Sub-Section Number : 5
Sub-Section Id : 394484354
Question Shuffling Allowed : Yes

Question Number : 178 Question Id : 3944843511 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

He has been writing a letter three hours.

(1) Since
(2) By
(3) For
(4) At

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 179 Question Id : 3944843512 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

I will go home the end of the movie

(1) In
(2) At
{3) On
(4) About
Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 180 Question Id : 3944843513 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

The noise interferes my work

(1) With
(2) At
(3) In
(4) On

Options :
1.¥ 1
2. %2
3.%3
4, % 4

Question Number : 181 Question Id : 3944843514 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition



Isaw him as I down the lane

(1) Go
(2) Going
(3) Was going
(4) Is going
Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 182 Question Id : 3944843515 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

He seems to be . I saw him in an expensive suit.

(1) Better off
(2) Well of
(3) Best off
(4) Well off

Options :
1. % 1
2. %2
3. %3
4.v 4

Question Number : 183 Question Id : 3944843516 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

He has as CEO of the organization very recently

(1) Taken off
{2) Taken over
(3) Taken up
(4) Taken in



Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 184 Question Id : 3944843517 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Thanks to the good food in hostel. Raju some weight.

(1) Put on
(2) Put up
(3) Put up with
(4) Put down
Options :
1.v1
2. %2
3. %3
4. % 4

Question Number : 185 Question Id : 3944843518 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

We the matter for an hour but without any result.

(1) Talked out of
(2) Talked over
(3) Talked back
(4) Talked down

Options :
1. %1
2.9¥2
3.%3
4, % 4



Sub-Section Number : 6
Sub-Section Id : 394484355
Question Shuffling Allowed : Yes

Question Id : 3944843519 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (186 to 190)
Read the following passage and answer questions

Patriotism is a very complex feeling, built up out of primitive instincts and highly
mtellectual convictions. There is love of home. family and friends. making us
peculiarly anxious to preserve our own country from invasion. There is the mild
instinetive liking for compatriots as against foreigners. There is pride which is bound
up with the success of community to which we feel that we belong. There is a belief.
suggested by pride but reinforced by history that one’s own nation represents a great
tradition and stands for ideals that are important for human race. But besides all these.
there is another element, at once nobler and more open to attack. an element of
worship. of willing sacrifice. of joyful merging of the individual life with the life of
the nation. This religious element in patriotism is essential to the strength of the State
since it enlists the best that 1s in most men on the side of national sacrifice.

Sub questions

Question Number : 186 Question Id : 3944843520 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

We try to protect our country because?

(1) We love our home. family and friends

(2) We love outsiders

(3) We love outsiders as much as we love ourselves
(4) We think outsiders as our own

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 187 Question Id : 3944843521 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The word ‘compatriot’ means

(1) Fellow countrymen
(2) Fellow human beings
(3) Fellow villagers

(4) Fellow townsmen

Options :
1.¥ 1
2. %2
3. %3
4. % 4

Question Number : 188 Question Id : 3944843522 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following statements about patriotism is false according to the passage?

(1) It is a noble belief

(2) It expects sacrifice

(3) It is an invulnerable idea

(4) It 1s essential for the strength of the State

Options :
1. %1
2. % 2
3.3
4. % 4

Question Number : 189 Question Id : 3944843523 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The attitudes of the speaker of the passage is?

(1) Satirical

(2) Analytical
(3) Persuasive
(4) Disapproving

Options :
1. %1
2.¥2
3.%3
4, % 4



Question Number : 190 Question Id : 3944843524 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is false?

(1) We often like our countrymen than others.

(2) There is a religious element in patriotism.

(3) Our patriotism is directly linked to the success of our country.

(4) We believe that all nations epitomize ideals that are important for human race.

Options :

1. % ]

2. %2

3.%3

4.9 4

Sub-Section Number : 7

Sub-Section Id : 394484356
Question Shuffling Allowed : Yes

Question Id : 3944843525 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (191 to 195)
Read the following passage and answer questions



A Study found that music therapy sessions have a positive effect on the
neurorehabilitation of acute stroke patients. The research was carried out on a 26-bed
stroke and rehabilitation unit at a hospital in the UK. In total. 177 patients took part
in 675 Neurclogic Music Therapy (NMT) sessions over a two-year period. According
to the researchers. music therapy is understood to help stroke patients through mood
regulation. improved concentration. and promoting changes in the brain to improve
function. known as neural reorganisation. Lots of repetition or “massed practice™. 1s
central to neurorehabilitation. In addition to plaving physical instruments (keyboard.
drums and hand-held percussion). touch screen instruments were used in the trial to
help patients with hand rehabilitation. through improving finger dexterity. and
cognitive training.

NMT sessions were run alongside existing stroke rehabilitation treatment. including
physiotherapy, occupational therapy, speech therapy. and clinical psychology. Of the
139 patients. relatives and hospital staff who completed mood-scale questionnaires.
the average response was that NMT was helpiul or very helpful. And of the 52 patients
who completed mood-scale questionnaires. there was a reduction in sadness and an
increase in happy responses immediately following a session. Speech and language
therapists observed a positive impact on patient engagement and reported that it may
help patients overcome low mood and fatigue — both commeon following stroke — and
therefore be beneficial for their rehabilitation.

*The fact 675 sessions were carried out in two years is in itself an indication of the
success of the treatment. It shows that staff are referring patients because they
understand the mechanisms of the exercise and can see how it can benefit their
patients. It also shows that patients are willing to do the exercises. with each one
participating in an average of five sessions™. a researcher said.

Sub questions

Question Number : 191 Question Id : 3944843526 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What was the duration of the research experiment?

(1) 26 weeks

(2) One year and eight months
(3) Two years

{4) Five years

Options :
1. %1
2. %2
3.¢¥3
4. % 4

Question Number : 192 Question Id : 3944843527 Question Type : MCQ Option Shuffling : No Display



Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

How many sessions of the therapy were carried out?

(1) 52

(2) 675
(3) 177
(4) 139

Options :
1. %1
2.¥2
3.% 3
4. % 4

Question Number : 193 Question Id : 3944843528 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What is central to the rehabilitation process?

(1) Repetition

(2) Mood swings
(3) Happy responses
(4) Finger dexterity

Options :
1.¥1
2. %2
3.% 3
4. % 4

Question Number : 194 Question Id : 3944843529 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How many patients respond to the mood-scale questionnaires?

(1) 177
(2) 26
(3) 139
(4) 52

Options :

1. %1

2. %2

3.% 3



4.9 4

Question Number : 195 Question Id : 3944843530 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which fact is not mentioned as evidence of the success of the research?

(1) More patients were being referred

(2) More patients were willing to do the exercises
(3) Each patient did the exercises without fatigue

(4) Each patient took part in an average of 5 sessions

Options :

1. %1

2. %2

3.3

4. % 4

Sub-Section Number : 8

Sub-Section Id : 394484357
Question Shuffling Allowed : Yes

Question Id : 3944843531 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (196 to 200)
Read the following passage and answer questions



Thailand brings to mind turquoise blue waters, highest landscapes. and thriving
wildlife. My journey began at Don Muong airport as I took the flight to Phuket.

The first day had me travelling to Big Buddha. one of the revered landmarks on the
island. It sits atop a hill and is a 45-meter-tall white marble statue of Buddha. Driving
up hill T came across an elephant safari and opted not to do the ride for ethical reasons
but you could go feed the elephants. play with them and that truly was out of the world.
The elephants were tamed and did the sweetest actions like kissing the tourists. asking
for food and I would like to believe that they did it of their own accord. The elephant
I met was called Anda and he was a baby. terribly cute and his mannerisms were unlike
any animals I have seen. The route is dotted with many cafes that have a spectacular
view of the ocean and a nice mocktail coupled with the cold breeze and the sounds of
waves was a beautiful way to spend the afternoon.

Phuket was all about exploring beaches and the best part is that it is so close to the
many other islands that are just a boat trip away. I decided to go on an island-hopping
adventure and took a speed boat to the first island. Panak. In one of the many islands
on Phang Nga Bay the resort owner told me that the experience would be like no other.

The island had limestone formations and looked absolutely stunning. We had to take
a look at the island from the boat. As the boat went close to the rocks. I observed
something moving in the water, it jumped back on to the rock. It was a monkey. The
island had monkeys around that very simply jumped into the water, swam and come
back on the rocks. For someone who encountered monkeys in the wild as notorious
little animals that mostly live on trees. this was pretty fascinating. It wasn't the
monkeys but the landscape they lived in that had us. many Indians included. in awe.

Sub questions

Question Number : 196 Question Id : 3944843532 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What was the name of the first island on the island-hopping trip?

(1) Phuket

(2) Don Muong
(3) Phang Nga
(4) Panak

Options :
1. % 1
2. %2
3.% 3
4. ¢ 4

Question Number : 197 Question Id : 3944843533 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

Where. according to the writer. should one spend one’s afternoons?

(1) In a boat
(2) At a cafe
(3) On ahill
(4) At the beach

Options :
1. % 1
2.¢¥2
3.%3
4. % 4

Question Number : 198 Question Id : 3944843534 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What was the Big Buddha made of?

(1) Marble
(2) Stone
(3) Metal
(4) Wood

Options :
1.v1
2. %2
3. %3
4. % 4

Question Number : 199 Question Id : 3944843535 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The unusual feature the writer noticed during the boat trip was

(1) Man-made rock formations
(2) People on peaceful beaches
(3) Monkeys

(4) Colourful view of the ocean

Options :
1. % ]
2. %2
3.3



4. % 4

Question Number : 200 Question Id : 3944843536 Question Type : MCQ Option Shuffling
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Why did the writer decide not to undertake the elephant ride?

(1) The writer preferred to stay far away from all animals
(2) The writer played with them from a distance

(3) The writer wanted to watch the tourists feeding them

(4) The writer did not approve of the taming of the elephants

Options :
1. % 1
2. %2
3. %3
4.v 4

: No Display



